
BIOLOGY

BOOKS - MBD -HARYANA BOARD

REPRODUCTION IN ORGANISMS

Example

1. Why is reproductin essential for organisms?

Watch Video Solution

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_aTNVNg44pSIE


2. Which is better method of reproduction?

Why?Will your opinion be affected by

environmental factors present?

Watch Video Solution

3. Why is the offspring formed by asexual

reproduction referred to as clone?

Watch Video Solution

https://dl.doubtnut.com/l/_kUR3ClH8F0lJ
https://dl.doubtnut.com/l/_JvCTYI4OZp28


4. Offspring formed due to sexual

reproduction have better chances of survival.

Why ?

Watch Video Solution

5. How does the progeny formed from asexual

reproduction are different from those formed

by sexual reproduction?

Watch Video Solution

https://dl.doubtnut.com/l/_L5WN4Y6ICVuC
https://dl.doubtnut.com/l/_fKbrk6CE6k9i
https://dl.doubtnut.com/l/_yBKjHHzmdVbM


6. Distinguish between asexual and sexual

reproduction. Why is vegetative reproduction

also considered as a type of asexual

reproduction?

Watch Video Solution

7. What is vegetative propagation ? Give two

suitable examples.

Watch Video Solution

https://dl.doubtnut.com/l/_yBKjHHzmdVbM
https://dl.doubtnut.com/l/_slE5VyOBLxf9
https://dl.doubtnut.com/l/_hWW26YMvjuQ6


8. Define

juvenile phase

Watch Video Solution

9. Define

reproductive phase

Watch Video Solution

10. Define

senescence phase.

https://dl.doubtnut.com/l/_hWW26YMvjuQ6
https://dl.doubtnut.com/l/_aIEcWqhgjrWh
https://dl.doubtnut.com/l/_qjfo5eQ5VbUD


Watch Video Solution

11. Higher organisms have resorted to sexual

reproduction in spite of its complexity. Why?

Watch Video Solution

12. Explain why melosis and gametogenesls are

always interlinked?

Watch Video Solution

https://dl.doubtnut.com/l/_qjfo5eQ5VbUD
https://dl.doubtnut.com/l/_g2QPCdUbRCsn
https://dl.doubtnut.com/l/_WpB3Vu1I9Hg2
https://dl.doubtnut.com/l/_o51QUoeOsZ4V


13. Identify each part and write whether it is

haploid (n) or diploid(2n).

Ovary

Watch Video Solution

14. Identify each part and write whether it is

haploid (n) or diploid(2n).

anther

Watch Video Solution

https://dl.doubtnut.com/l/_o51QUoeOsZ4V
https://dl.doubtnut.com/l/_fau9SDOxG32s
https://dl.doubtnut.com/l/_9j6qrp33Q0pA


15. Identify each part and write whether it is

haploid (n) or diploid(2n).

egg

Watch Video Solution

16. Identify each part and write whether it is

haploid (n) or diploid(2n).

pollen

Watch Video Solution

https://dl.doubtnut.com/l/_9j6qrp33Q0pA
https://dl.doubtnut.com/l/_z5hLNNyvtAtP


17. Identify each part and write whether it is

haploid (n) or diploid(2n).

male gamete

Watch Video Solution

18. Identify each part and write whether it is

haploid (n) or diploid(2n).

zygote.

Watch Video Solution

https://dl.doubtnut.com/l/_QV8UjM3thO3J
https://dl.doubtnut.com/l/_E4I4M7utDUvs
https://dl.doubtnut.com/l/_GXK1qOmq573Y


19. Define external fertilization. Mention its

disadvantages.

Watch Video Solution

20. Differentiate between a zoospore and a

zygote.

Watch Video Solution

https://dl.doubtnut.com/l/_GXK1qOmq573Y
https://dl.doubtnut.com/l/_ucGRQ0rbIxDX


21. Differentiate between gametogenesis and

embryogenesis.

Watch Video Solution

22. Describe the post-fertilization changes in a

flower.

Watch Video Solution

https://dl.doubtnut.com/l/_1eQpkQ4uErC1
https://dl.doubtnut.com/l/_tISOzRnsq5hl


23. What is a bisexual flower? Collect five

bisexual flowers from your neighbourhood

and with the help of your teacher find out

their common and scientific names.

Watch Video Solution

24. Examine a few flowers of any cucurbit plant

and try to identify the staminate and pistillate

flowers. Do you know any other plant that

bears unisexual flowers?

https://dl.doubtnut.com/l/_IYrOsuRFS0aN
https://dl.doubtnut.com/l/_UfdETzwZbhlp


Watch Video Solution

25. Why offsprings of oviparous animals are at

a greater risk for survival?

Watch Video Solution

26. What is life span?

Watch Video Solution

https://dl.doubtnut.com/l/_UfdETzwZbhlp
https://dl.doubtnut.com/l/_Ja2ggHEoXw0k
https://dl.doubtnut.com/l/_S0kFITyOumIP


27. Write the life span of 

Butterfly

Watch Video Solution

28. Wrtie the life span of 

Tortoise

Watch Video Solution

29. Life span of Parrot is

https://dl.doubtnut.com/l/_M8SCrbbLt96C
https://dl.doubtnut.com/l/_WCJSikcC2aim
https://dl.doubtnut.com/l/_CTfXU7lLutak


Watch Video Solution

30. Life span of crocodile is

Watch Video Solution

31. Write the life span of 

mayfly

Watch Video Solution

https://dl.doubtnut.com/l/_CTfXU7lLutak
https://dl.doubtnut.com/l/_vN7YHuX4NsI4
https://dl.doubtnut.com/l/_ixBUbxCvM9I7


32. Write the life span of 

Banyan tree.

Watch Video Solution

33. Name a plant which has a life span of

about 3,000-4,000 years.

Watch Video Solution

34. Which is oldest living tree?

https://dl.doubtnut.com/l/_novxOEXpUsOp
https://dl.doubtnut.com/l/_MHWa0DaTfWXg
https://dl.doubtnut.com/l/_9S8nmUeSNlrm


Watch Video Solution

35. Name the most important characteristics

of plants and animals.

Watch Video Solution

36. Are clone genetically and morphologically

similar to parent?

Watch Video Solution

https://dl.doubtnut.com/l/_9S8nmUeSNlrm
https://dl.doubtnut.com/l/_J2AopL1v4K70
https://dl.doubtnut.com/l/_tkOw1ExbOZEk
https://dl.doubtnut.com/l/_xjEfPk1ZHsg0


37. What are the two main methods of

reproduction?

Watch Video Solution

38. How does yeast reproduce?

Watch Video Solution

39. Why is the offspring formed by asexual

reproduction referred to as clone?

https://dl.doubtnut.com/l/_xjEfPk1ZHsg0
https://dl.doubtnut.com/l/_PeoRgkeTmq0M
https://dl.doubtnut.com/l/_FacdgdbPrVDj


Watch Video Solution

40. Name special methods of reproduction.

Watch Video Solution

41. How do ginger,potato,oinion and zamikand

are grown?

Watch Video Solution

https://dl.doubtnut.com/l/_FacdgdbPrVDj
https://dl.doubtnut.com/l/_chSZ46GnK3AK
https://dl.doubtnut.com/l/_isJ8oO132ENq


42. Name sub-aerial stems which help in

multiplication.

Watch Video Solution

43. Name artificial methods of vegetative

propagation.

Watch Video Solution

https://dl.doubtnut.com/l/_M3QptxIaYYbI
https://dl.doubtnut.com/l/_PPRy4whiLh45


44. Which type of division is involved in

asexual reproduction ?

Watch Video Solution

45. Name as cultivated plant in which neither

fruits nor seeds are formed.

Watch Video Solution

https://dl.doubtnut.com/l/_c7caiOIeQ2W1
https://dl.doubtnut.com/l/_AU5jbIdmJirV


46. If the diploid number of chromosomes in

an angiospermic plant is 18, what number

would you expect in the endosperm and

embryo of that plant.

Watch Video Solution

47. Give an example each of :

Monoecious plant

Watch Video Solution

https://dl.doubtnut.com/l/_4cOJLtm54Fq9
https://dl.doubtnut.com/l/_izgNqcPp5W7a
https://dl.doubtnut.com/l/_r6qll7CkupGx


48. Give an example each of :

Dioecious plants.

Watch Video Solution

49. What is the edible part of :

Mango

Watch Video Solution

https://dl.doubtnut.com/l/_r6qll7CkupGx
https://dl.doubtnut.com/l/_WJLQ5ewXbmEi


50. What is the edible part of :

Apple.

Watch Video Solution

51. Define external fertilization.

Watch Video Solution

52. What is sexual dimorphism?

Watch Video Solution

https://dl.doubtnut.com/l/_va6p2AqYU78L
https://dl.doubtnut.com/l/_rSLlTCPPviUj
https://dl.doubtnut.com/l/_Zcheouk8vAq8


53. Define parthenogenesis.

Watch Video Solution

54. Why is reproduction essential for

organisms?

Watch Video Solution

https://dl.doubtnut.com/l/_Zcheouk8vAq8
https://dl.doubtnut.com/l/_BIb3rclPP1dF
https://dl.doubtnut.com/l/_5rURUAyJRlXq


55. Which is a better mode of reproduction

sexual or asexual Why?

Watch Video Solution

56. Why is apple called a fasle fruit?

Watch Video Solution

57. What is fission? What is basic difference

between Fission in Amoeba and Paramaecium?

https://dl.doubtnut.com/l/_Zb3yYOCrYe3D
https://dl.doubtnut.com/l/_i9nSnDQv4nBt
https://dl.doubtnut.com/l/_ASfAhlFDxCOL


Watch Video Solution

58. Which type of mammals show oestrous

cylce?

Watch Video Solution

59. What is life span?What is reality of life?

Watch Video Solution

https://dl.doubtnut.com/l/_ASfAhlFDxCOL
https://dl.doubtnut.com/l/_i3x3v6onLZte
https://dl.doubtnut.com/l/_3UNJd05eHbdM


60. Write the approximate average life span of

following oranisms:

May fly,wheat,monkey,dog,cat,horse,elephant

,eagle,man,parrot,tortoise,Banyan tree and

sequioa tre.Name the oldest tree.

Watch Video Solution

61. Write a note on death.

Watch Video Solution

https://dl.doubtnut.com/l/_AjGJaUBKXMBM
https://dl.doubtnut.com/l/_maYbN4BwJ4C3
https://dl.doubtnut.com/l/_Cg5V0DzQnepp


62. Explain why melosis and gametogenesls

are always interlinked?

Watch Video Solution

63. How do the following organisms reproduce

by asexual means 

Hydra

Watch Video Solution

https://dl.doubtnut.com/l/_Cg5V0DzQnepp
https://dl.doubtnut.com/l/_wxWquyPcCyjH


64. How do the following organisms reproduce

by asexual means 

Malarial parasite

Watch Video Solution

65. How do the following organisms reproduce

by asexual means 

Planaria?

Watch Video Solution

https://dl.doubtnut.com/l/_6AtzYkTruJos
https://dl.doubtnut.com/l/_MKeDPHak22gF
https://dl.doubtnut.com/l/_hwuGERaxeLwM


66. Discuss the advantages and disadvantages

of asexual reproduction.

Watch Video Solution

67. Discuss the advantages and disadvantages

of sexual reproduction.

Watch Video Solution

https://dl.doubtnut.com/l/_hwuGERaxeLwM
https://dl.doubtnut.com/l/_9xkfjHUu9eBn


68. Show the different kinds of asexual

reproductive structures.

Watch Video Solution

69. Differentiate binary fission and multiple

fission.

Watch Video Solution

70. Differentiate fission and budding.

https://dl.doubtnut.com/l/_j5KA4bp9bY9j
https://dl.doubtnut.com/l/_ay1aqAQENf5c
https://dl.doubtnut.com/l/_BIXD9nTntRFN


Watch Video Solution

71. (a) Which mode of reproduction is better

and why ?

Watch Video Solution

72. Potato is a stem and sweet potato is a

root. Justify the statement.

Watch Video Solution

https://dl.doubtnut.com/l/_BIXD9nTntRFN
https://dl.doubtnut.com/l/_PrYu2YR4BUg3
https://dl.doubtnut.com/l/_1DtJ4rTCVv6f
https://dl.doubtnut.com/l/_B63arI5Udhjc


73. List the pre-fertilization events.

Watch Video Solution

74. Why does the zygote in angiosperms start

developing into embryo only after some

endosperm is formed?

Watch Video Solution

https://dl.doubtnut.com/l/_B63arI5Udhjc
https://dl.doubtnut.com/l/_d6D6azCnEvaN


75. Why do we refer to offspring formed by

asexual method of reproduction as clones?

Watch Video Solution

76. Describe the importance of vegetative

propagation.

Watch Video Solution

https://dl.doubtnut.com/l/_6exA9lFvZnaO
https://dl.doubtnut.com/l/_ydvVxDdlK9EI


77. Define fruit.Bring out the differences

between true fruit and false fruit.Classify the

followng into false and true fruits:

Apple

Watch Video Solution

78. Define fruit.Bring out the differences

between true fruit and false fruit.Classify the

followng into false and true fruits:

Pear

https://dl.doubtnut.com/l/_AegtyEr2TH9O
https://dl.doubtnut.com/l/_041rBZPM9EJw


Watch Video Solution

79. Define fruit.Bring out the differences

between true fruit and false fruit.Classify the

followng into false and true fruits:

Orange

Watch Video Solution

80. Define fruit.Bring out the differences

between true fruit and false fruit.Classify the

https://dl.doubtnut.com/l/_041rBZPM9EJw
https://dl.doubtnut.com/l/_o3imdbTDfGfM
https://dl.doubtnut.com/l/_oS17BVrK2kQw


followng into false and true fruits:

Almond

Watch Video Solution

81. What do you understand by vegetative

method of reproduction?

Watch Video Solution

82. Explain natural vegetative methods of

reproduction.

https://dl.doubtnut.com/l/_oS17BVrK2kQw
https://dl.doubtnut.com/l/_oUtlQfLud5TW
https://dl.doubtnut.com/l/_KysmPDfbGflA


Watch Video Solution

83. Why is reproduction essential for

organisms?

Watch Video Solution

84. Which is better method of reproduction?

Why?Will your opinion be affected by

environmental factors present?

Watch Video Solution

https://dl.doubtnut.com/l/_KysmPDfbGflA
https://dl.doubtnut.com/l/_VQA9mrUpt1sg
https://dl.doubtnut.com/l/_nRcofW6g7R8e


85. Why is the offspring formed by asexual

reproduction referred to as clone?

Watch Video Solution

86. Offspring formed due to sexual

reproduction have better chances of survival.

Why ?

Watch Video Solution

https://dl.doubtnut.com/l/_nRcofW6g7R8e
https://dl.doubtnut.com/l/_lxePsRIi9yA7
https://dl.doubtnut.com/l/_2wgpFFozRME5
https://dl.doubtnut.com/l/_SJSPvmKhjBxi


87. How does the progeny formed from

asexual reproduction differ from those formed

by sexual reproduction?

Watch Video Solution

88. Distinguish between asexual and sexual

reproduction. Why is vegetative reproduction

also considered as a type of asexual

reproduction?

Watch Video Solution

https://dl.doubtnut.com/l/_SJSPvmKhjBxi
https://dl.doubtnut.com/l/_9qWIAK89pMXB
https://dl.doubtnut.com/l/_12JHY1IGEh8x


89. What is vegetative propagation ? Give two

suitable examples.

Watch Video Solution

90. Define

juvenile phase

Watch Video Solution

https://dl.doubtnut.com/l/_12JHY1IGEh8x
https://dl.doubtnut.com/l/_fGwqmQASHMUP


91. Define

reproductive phase

Watch Video Solution

92. Define

senescence phase.

Watch Video Solution

https://dl.doubtnut.com/l/_M67wOes6KayT
https://dl.doubtnut.com/l/_JrZflV5YTD6T


93. Higher organisms have resorted to sexual

reproduction in spite of its complexity. Why?

Watch Video Solution

94. Explain why melosis and gametogenesls

are always interlinked?

Watch Video Solution

https://dl.doubtnut.com/l/_Cl1l8sTPUsYB
https://dl.doubtnut.com/l/_wJb3N52FEe9x


95. Identify each part and write whetehr it is

haploid (n) or diploid(2n).

Ovary

Watch Video Solution

96. Identify each part and write whetehr it is

haploid (n) or diploid(2n).

anther

Watch Video Solution

https://dl.doubtnut.com/l/_maoelvLdoDS7
https://dl.doubtnut.com/l/_uU7U4g6lzT1n
https://dl.doubtnut.com/l/_IitMJdbGt5KR


97. Identify each part and write whether it is

haploid (n) or diploid(2n).

egg

Watch Video Solution

98. Identify each part and write whether it is

haploid (n) or diploid(2n).

pollen

Watch Video Solution

https://dl.doubtnut.com/l/_IitMJdbGt5KR
https://dl.doubtnut.com/l/_Na0tMrncGbu9
https://dl.doubtnut.com/l/_pDwZtNFp0sDF


99. Identify each part and write whether it is

haploid (n) or diploid(2n).

male gamete

Watch Video Solution

100. Identify each part and write whetehr it is

haploid (n) or diploid(2n).

zygote.

Watch Video Solution

https://dl.doubtnut.com/l/_pDwZtNFp0sDF
https://dl.doubtnut.com/l/_XH3zaGTT1BUW


101. Define external fertilization. Mention its

disadvantages.

Watch Video Solution

102. Differentiate between a zoospore and a

zygote.

Watch Video Solution

https://dl.doubtnut.com/l/_nlkNSuNhcpU8
https://dl.doubtnut.com/l/_lFR109ydU9EI


103. Differentiate between gametogenesis and

embryogenesis.

Watch Video Solution

104. Describe the post-fertilization changes in

a flower.

Watch Video Solution

https://dl.doubtnut.com/l/_xFG9QbaqLTWB
https://dl.doubtnut.com/l/_hSPO3YGAO1vF


105. What is a bisexual flower? Collect five

bisexual flowers from your neighbourhood

and with the help of your teacher find out

their common and scientific names.

Watch Video Solution

106. Examine a few flowers of any cucurbit

plant and try to identify the staminate and

pistillate flowers. Do you know any other plant

that bears unisexual flowers?

https://dl.doubtnut.com/l/_moY5KDx2O33f
https://dl.doubtnut.com/l/_DuaweOup8mPw


Watch Video Solution

107. Why offspring oviparous animals are at a

greater risk ?

Watch Video Solution

108. What is life span?

Watch Video Solution

https://dl.doubtnut.com/l/_DuaweOup8mPw
https://dl.doubtnut.com/l/_0AL5l1xMVfbe
https://dl.doubtnut.com/l/_RfFAR75RMAbI


109. Write the life span of 

Butterfly

Watch Video Solution

110. Life span of tortoise is

Watch Video Solution

111. Life span of Parrot is

Watch Video Solution

https://dl.doubtnut.com/l/_4UunSgPvsDRe
https://dl.doubtnut.com/l/_OTrNVUpUZtwx
https://dl.doubtnut.com/l/_prmXUZxf6Jbr


112. Life span of crocodile is

Watch Video Solution

113. Write the life span of 

may fly

Watch Video Solution

https://dl.doubtnut.com/l/_prmXUZxf6Jbr
https://dl.doubtnut.com/l/_9VLiKzFmT0K1
https://dl.doubtnut.com/l/_ZQJXAwMBQM6p


114. Write the life span of 

Banyan tree.

Watch Video Solution

115. Name a plant which has a life span of

about 3,000-4,000 years.

Watch Video Solution

116. Which is oldest living tree?

https://dl.doubtnut.com/l/_xP7QjQ29Zhag
https://dl.doubtnut.com/l/_t0zTAX6LKrFC
https://dl.doubtnut.com/l/_ZydH3Ll3cBHP


Watch Video Solution

117. Name the most important characteristics

of plants and animals.

Watch Video Solution

118. Are clone genetically and morphologically

similar to parent?

Watch Video Solution

https://dl.doubtnut.com/l/_ZydH3Ll3cBHP
https://dl.doubtnut.com/l/_aSvuUMKZLuWw
https://dl.doubtnut.com/l/_TjtzUMYRNM0U
https://dl.doubtnut.com/l/_lPw8u9LctAfy


119. What are the two main methods of

reproduction?

Watch Video Solution

120. How does yeast reproduce?

Watch Video Solution

121. Why is the offspring formed by asexual

reproduction referred to as clone?

https://dl.doubtnut.com/l/_lPw8u9LctAfy
https://dl.doubtnut.com/l/_jnwgzTxoQsPM
https://dl.doubtnut.com/l/_pj9hSMTdZfFL


Watch Video Solution

122. How do ginger,potato,oinion and

zamikand are grown?

Watch Video Solution

123. Name sub-aerial stems which help in

multiplication.

Watch Video Solution

https://dl.doubtnut.com/l/_pj9hSMTdZfFL
https://dl.doubtnut.com/l/_aj2HyR2ivmKt
https://dl.doubtnut.com/l/_8vyssPf9meoS
https://dl.doubtnut.com/l/_uFCrSJjsDm5l


124. Name artificial methods of vegetative

propagation.

Watch Video Solution

125. Which type of division is involved in

asexual reproduction ?

Watch Video Solution

126. Name as cultivated plant in which neither

fruits nor seeds are formed.

https://dl.doubtnut.com/l/_uFCrSJjsDm5l
https://dl.doubtnut.com/l/_2vayFvda1eSC
https://dl.doubtnut.com/l/_2GCR4g8aEoZN


Watch Video Solution

127. If the diploid number of chromosomes in

an angiospermic plant is 18, what number

would you expect in the endosperm and

embryo of that plant.

Watch Video Solution

128. Give an example each of :

Monoecious plant

https://dl.doubtnut.com/l/_2GCR4g8aEoZN
https://dl.doubtnut.com/l/_hMq0876Qy333
https://dl.doubtnut.com/l/_YBXXAGvIxZRp


Watch Video Solution

129. Give an example each of :

Dioecious plants.

Watch Video Solution

130. What is the edible part of :

Mango

Watch Video Solution

https://dl.doubtnut.com/l/_YBXXAGvIxZRp
https://dl.doubtnut.com/l/_mmXCCo7zGDoz
https://dl.doubtnut.com/l/_I7UM9qDCWfOj
https://dl.doubtnut.com/l/_xQ64PIniVf24


131. What is the edible part of :

Apple.

Watch Video Solution

132. Define external fertilization.

Watch Video Solution

133. What is sexual dimorphism?

Watch Video Solution

https://dl.doubtnut.com/l/_xQ64PIniVf24
https://dl.doubtnut.com/l/_8pTo4rsFIj49
https://dl.doubtnut.com/l/_aIkC9PXtjAzn


134. Define parthenogenesis. Give one

example.

Watch Video Solution

135. Why is reproduction essential for

organisms?

Watch Video Solution

https://dl.doubtnut.com/l/_UmmZ3Xkqsrgz
https://dl.doubtnut.com/l/_KHZtG54xPEHy


136. Which is a better mode of reproduction

sexual or asexual Why?

Watch Video Solution

137. Why is apple called a fasle fruit?

Watch Video Solution

138. What is fission? What is the basic

difference between fission in Amoeba and

https://dl.doubtnut.com/l/_exUJSCPlNd8q
https://dl.doubtnut.com/l/_Tt3fOCBXsxrO
https://dl.doubtnut.com/l/_qoz7mQdbEVWH


Paramecium?

Watch Video Solution

139. Which type of mammals show oestrous

cylce?

Watch Video Solution

140. What is life span?What is reality of life?

Watch Video Solution

https://dl.doubtnut.com/l/_qoz7mQdbEVWH
https://dl.doubtnut.com/l/_eZCTIdb5ghWp
https://dl.doubtnut.com/l/_87Q2s21dQsjD


141. Write a note on death.

Watch Video Solution

142. Explain why melosis and gametogenesls

are always interlinked?

Watch Video Solution

143. How do the following organism reproduce

by asexual means 

https://dl.doubtnut.com/l/_vQ6sZiCKS4w4
https://dl.doubtnut.com/l/_ogAEk10XOAu4
https://dl.doubtnut.com/l/_l93YGfRslRdP


Hydra

Watch Video Solution

144. How do the following organism reproduce

by asexual means 

Malarial parasite

Watch Video Solution

145. How do the following organism reproduce

by asexual means 

https://dl.doubtnut.com/l/_l93YGfRslRdP
https://dl.doubtnut.com/l/_fR27RbONGSTD
https://dl.doubtnut.com/l/_eKn2W6zqzq0V


Planaria?

Watch Video Solution

146. Discuss the advantages and

disadvantages of asexual reproduction.

Watch Video Solution

147. Discuss the advantages and

disadvantages of sexual reproduction.

Watch Video Solution

https://dl.doubtnut.com/l/_eKn2W6zqzq0V
https://dl.doubtnut.com/l/_ecv7CDpo2uHp
https://dl.doubtnut.com/l/_xj3J0yTgDx5K


148. Differentiate binary fissio and multiple

fission.

Watch Video Solution

149. Differentiate fiossion and budding.

Watch Video Solution

https://dl.doubtnut.com/l/_xj3J0yTgDx5K
https://dl.doubtnut.com/l/_VLOBuEqwAqNM
https://dl.doubtnut.com/l/_bfDBemBlwp9f


150. (a) Which mode of reproduction is better

and why ?

Watch Video Solution

151. Potato is a stem and sweet potato is a

root. Justify the statement.

Watch Video Solution

152. List the pre-fertilization events.

https://dl.doubtnut.com/l/_wzaZaPFCUvXg
https://dl.doubtnut.com/l/_vWMIgQNbUYvY
https://dl.doubtnut.com/l/_Sam4WgCJi8U0


Watch Video Solution

153. Why does the zygote in angiosperms start

developing into embryo only after some

endosperm is formed?

Watch Video Solution

154. Describe the importance of vegetative

propagation.

Watch Video Solution

https://dl.doubtnut.com/l/_Sam4WgCJi8U0
https://dl.doubtnut.com/l/_jR6iX0rByXN4
https://dl.doubtnut.com/l/_Ry1txhZXsa8v


155. Define fruit.Bring out the differences

between true fruit and false fruit.Classify the

followng into false and true fruits:

Apple

Watch Video Solution

156. Define fruit.Bring out the differences

between true fruit and false fruit.Classify the

followng into false and true fruits:

Pear

https://dl.doubtnut.com/l/_Ry1txhZXsa8v
https://dl.doubtnut.com/l/_zmaHNyJK3afQ
https://dl.doubtnut.com/l/_FyMQiBzbeDLm


Watch Video Solution

157. Define fruit.Bring out the differences

between true fruit and false fruit.Classify the

followng into false and true fruits:

Orange

Watch Video Solution

158. Define fruit.Bring out the differences

between true fruit and false fruit.Classify the

https://dl.doubtnut.com/l/_FyMQiBzbeDLm
https://dl.doubtnut.com/l/_0ejuMEWAybgD
https://dl.doubtnut.com/l/_qFYFTDBn6Lsq


following into false and true fruits:

Almond

Watch Video Solution

159. What do you understand by vegetative

method of reproduction?

Watch Video Solution

160. Explain natural vegetative methods of

reproduction.

https://dl.doubtnut.com/l/_qFYFTDBn6Lsq
https://dl.doubtnut.com/l/_ilpd4n161TEE
https://dl.doubtnut.com/l/_jchfsFrcgcWw


Exercise

Watch Video Solution

1. In Rhizopus, asexual reproduction takes

place by________formation.

Watch Video Solution

2. Fill in the blanks with suitable words:

Pseudomycelium is formed in ............. .

https://dl.doubtnut.com/l/_jchfsFrcgcWw
https://dl.doubtnut.com/l/_zCvtCfxqgmXD
https://dl.doubtnut.com/l/_fW3C2Fx1zHq8


Watch Video Solution

3. _________ in Penicillium are formed on

conidiophores.

Watch Video Solution

4. In sweet potato, vegetative propagation

takes place through_________.

Watch Video Solution

https://dl.doubtnut.com/l/_fW3C2Fx1zHq8
https://dl.doubtnut.com/l/_hoYpG1H7zwUQ
https://dl.doubtnut.com/l/_59HCDeRvFEMA
https://dl.doubtnut.com/l/_ML8MKqN6H62n


5. In Bryophyllum vegetative propagation

takes place through________.

Watch Video Solution

6. Fill in the blanks with suitable words:

Development of fruit without fertilization is

called .................. .

Watch Video Solution

https://dl.doubtnut.com/l/_ML8MKqN6H62n
https://dl.doubtnut.com/l/_mR3PAEmPkuvI


7. State True or False :

The ovary ripens to form fruit.

Watch Video Solution

8. State True or False :

Ginger is grown by bulb.

Watch Video Solution

https://dl.doubtnut.com/l/_NLtV9UGP4GPJ
https://dl.doubtnut.com/l/_OFWDM5SZPubi


9. State True or False :

Zaminkand is vegetatively propagated by

Corm.

Watch Video Solution

10. State True or False :

A Cleistogamous flower remains closed to help

self -pollination.

Watch Video Solution

https://dl.doubtnut.com/l/_W32lS9tUikzq
https://dl.doubtnut.com/l/_9IRYIhiSOfIT
https://dl.doubtnut.com/l/_LOl2RZjsuewu


11. State True or False :

A clone is a group of individuals obtained

through vegetative propagation.

Watch Video Solution

12. Repair of damaged tissue or

redevelopment of lost part.

Watch Video Solution

https://dl.doubtnut.com/l/_LOl2RZjsuewu
https://dl.doubtnut.com/l/_Og3vVuUFeKMP


13. The zygotic nucleus.

Watch Video Solution

14. Female part is an ovary.

Watch Video Solution

15. Vegetative type of reproduction means:

https://dl.doubtnut.com/l/_tkdWjftoQEFi
https://dl.doubtnut.com/l/_lpkf4SnLEr8F
https://dl.doubtnut.com/l/_2ECgX3p9HfDz


A. plant portion is used as a means of

propagation

B. seed is used as a means of propagation

C. flower is used as a means of propagation

D. None of the above.

Answer:

Watch Video Solution

16. Micropropagation is based on:

https://dl.doubtnut.com/l/_2ECgX3p9HfDz
https://dl.doubtnut.com/l/_BKzu3B50PeMI


A. tissue culture

B. hybridization

C. microtomy

D. genetic control.

Answer:

Watch Video Solution

17. Inarching is improved method of grafting

as here:

https://dl.doubtnut.com/l/_BKzu3B50PeMI
https://dl.doubtnut.com/l/_NLVDOJVey17t


A. both scion and stock plants are allowed

to remain intact

B. stock and scion are given oblique cuts

C. Both (a) and (b)

D. None of the above.

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_NLVDOJVey17t


18. The entry of pollen tube into embryo sac

through the integument is termed as:

A. porogamy

B. chalazogamy

C. mesogamy

D. Both (a) and (b).

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_hblzikd0c8pE
https://dl.doubtnut.com/l/_wqDiuvkC7SDz


19. The unisexual flowers are found in:

A. sunflower

B. mustard

C. papaya

D. radish.

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_wqDiuvkC7SDz


20. In monocots grafting is impossible

because they lack:`

A. Cambium

B. ground tissue

C. vascular bundle

D. parenchymatous cells.

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_Mu8wo8GvMpo2
https://dl.doubtnut.com/l/_FyVQM4j68KWi


21. The development of fruit without

fertilization is :

A. parthenogenesis

B. parthenocarpy

C. apomixis

D. apocarpy.

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_FyVQM4j68KWi


22. In grafting, the portion to be grafted on

the main part is called :

A. Adventitious bud

B. stem

C. stock

D. scion.

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_XUW389jK44pz
https://dl.doubtnut.com/l/_747fcSvswokh


23. One of the following is not mode of

asexual reproduction:

A. cutting

B. grafting

C. budding

D. conjugation.

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_747fcSvswokh


24. Vegetative propagation in onion occurs by:

A. offset

B. bulb

C. sucker

D. rhizome

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_9jYHm4OuQCIe


25. In Rhizopus, asexual reproduction takes

place by________formation.

Watch Video Solution

26. Fill in the blanks with suitable words:

Pseudomycelium is formed in ............. .

Watch Video Solution

https://dl.doubtnut.com/l/_1qdVjDWHBghn
https://dl.doubtnut.com/l/_Iumzo1NEip5I


27. _________ in Penicillium are formed on

conidiophores.

Watch Video Solution

28. In sweet potato, vegetative propagation

takes place through_________.

Watch Video Solution

https://dl.doubtnut.com/l/_TiU8gMLCLrXb
https://dl.doubtnut.com/l/_LKMCu4DRUhle


29. In Bryophyllum vegetative propagation

takes place through________.

Watch Video Solution

30. Development of fruit without fertilization

is called :

Watch Video Solution

https://dl.doubtnut.com/l/_qqwj46FvoaSG
https://dl.doubtnut.com/l/_yWmANjTKbjjL


31. State True or False :

The ovary ripens to form fruit.

Watch Video Solution

32. State True or False :

Ginger is grown by bulb.

Watch Video Solution

https://dl.doubtnut.com/l/_hxZeCNND2hf5
https://dl.doubtnut.com/l/_bvJBUoOXtyI6


33. State True or False :

Zaminkand is vegetatively propagated by

Corm.

Watch Video Solution

34. State True or False :

A Cleistogamous flower remains closed to help

self -pollination.

Watch Video Solution

https://dl.doubtnut.com/l/_4TdI9AJr3Iwd
https://dl.doubtnut.com/l/_M18Hh8u8bZda
https://dl.doubtnut.com/l/_tQyXrEDPp43M


35. State True or False :

A clone is a group of individuals obtained

through vegetative propagation.

Watch Video Solution

36. Repair of damaged tissue or

redevelopment of lost part.

Watch Video Solution

https://dl.doubtnut.com/l/_tQyXrEDPp43M
https://dl.doubtnut.com/l/_ImyEhkBYLkQ9


37. The zygotic nucleus.

Watch Video Solution

38. Vegetative type of repjroduction means:

A. plant portion is used as a means of

propagation

B. seed is used as a means of propagation

C. flower is used as a means of propagation

D. None of the above.

https://dl.doubtnut.com/l/_ULrfsIQkyjG9
https://dl.doubtnut.com/l/_S07kHFn6U2Cx


Answer:

Watch Video Solution

39. Micropropagation is based on:

A. tissue culture

B. hybridization

C. microtomy

D. genetic control.

Answer:

https://dl.doubtnut.com/l/_S07kHFn6U2Cx
https://dl.doubtnut.com/l/_wakRVRc8hcuJ


Watch Video Solution

40. Grafting is attempted in those plants

which show:

A. adventitious roots

B. buds

C. foliage leaves and herbaceous stems

D. secondary growth.

Answer:

https://dl.doubtnut.com/l/_wakRVRc8hcuJ
https://dl.doubtnut.com/l/_TB0vrEcHJOaw


Watch Video Solution

41. Inarching is improvoed method of grafting

as here:

A. both scion and stock plants are allowed

to remain intact

B. stock and scion are given oblique cuts

C. Both (a) and (b)

D. None of the above.

Answer:

https://dl.doubtnut.com/l/_TB0vrEcHJOaw
https://dl.doubtnut.com/l/_AtOy69uWJvsx


Watch Video Solution

42. The entry of pollen tube into embryo sac

through the integument is termed as:

A. porogamy

B. chalazogamy

C. mesogamy

D. Both (a) and (b).

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_AtOy69uWJvsx
https://dl.doubtnut.com/l/_fEYnQx7ITU0Y


43. The unisexual flowers are found in:

A. sunflower

B. mustard

C. papaya

D. radish.

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_fEYnQx7ITU0Y
https://dl.doubtnut.com/l/_9HrLvF7FH9b2
https://dl.doubtnut.com/l/_UKkLYMffhxQU


44. In monocots, grafting is almost impossible

because they lack

A. Cambium

B. ground tissue

C. vascular bundle

D. parenchymatous cells.

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_UKkLYMffhxQU
https://dl.doubtnut.com/l/_Zo93gJPgZKP2


45. Development of fruit without fertilization

is called :

A. parthenogenesis

B. parthenocarpy

C. apomixis

D. apocarypy.

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_Zo93gJPgZKP2


46. One of the following is not mode of

asexual reproduction:

A. cutting

B. grafting

C. budding

D. conjugation.

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_k0OTDFEGBZRl
https://dl.doubtnut.com/l/_zXsRnU8DXpDL


47. Vegetative propagation in onion occurs by:

A. offset

B. bulb

C. sucker

D. rhizome

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_zXsRnU8DXpDL

